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576.
Avery and Collin were trying to challenge each other with equations for sequences. Avery was looking at an explicit equation that Collin wrote.
Homework Help &

t(n) = 45n 8
a. Write the first 4 terms for the sequence.
b. What would Avery do to write the 15" term of this sequence?

5.77.
Write both an explicit equation and a recursive equation for the sequence: 5,8, 11,14,17,... Homework Help %
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5-79.
Find the following products. Homework Help %

a. (4z +5)(4z — 5) b. (42 +5)*

5-80.
Write an equation or system of equations to solve the problem below. 5-80 HW eTool (Desmos) Homework Help %

Apollo and Zeus are both on dicts. Apollo currently weighs 105 kg and is gaining 2 kg per month. Zeus currently weighs 130 kg and is losing 3 kg per
month. In how many months will they weigh the same?

581
Solve each system. Homework Help %

.62 — 2y = 10

3z-2=y
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